Fork Assembly
(Options 4SPLT, 4ALUM2, 51DC, 5ALUM2, 5SPLT, 61DC, 6ALUM2)

Fork and Stem
3”” Fork w/ Short Stem

Fork and Stem
5” Fork w/ Short Stem

— s ;s s i e e i | e e i i . e s e i e’ ' ' e e s e g

Fork and Stem
5 Fork w/ Long Stem



Fork Assembly
(Options 4SPLT, 4ALUM2, 51DC, 5ALUM2, 5SPLT, 61DC, 6ALUM2)

Item

Number | Note

Part Number

Description

Quantity Per

Package | Assembly

0O ~NO O, WWOOLWNOOOARADNOWNOOOG M P

B

See Chart

1192573

1118545

40117X021
1192574

1088523

Fork Assembly - For 4", 5", 6" Casters - Where

Used

Kit, Fork (5") w/ Long Stem
Spacer (1/2 x 5/8 x 3/8")

Stem, Fork, Long
Locknut (1/2-20)

Washer, Plain (1/2 x 7/8 x 1/16)

NLA - Fork, Caster

Kit, Fork (5") w/ Short Stem
Spacer (1/2 x 5/8 x 3/8")

Stem, Fork, Short
Locknut (1/2-20)

Washer, Plain (1/2 x 7/8 x 1/16)

NLA - Fork, Caster

Bearing (1/2" 1.D. x 1-1/8" O.D.)
Kit, Fork (3") w/ Short Fork
Spacer (1/2 x 5/8 x 3/8")

Stem, Fork, Short
Locknut (1/2-20)

Washer, Plain (1/2 x 7/8 x 1/16)

Fork, Caster

Plug Button, Head Tube, Black

1 1

PR RPRRPRRPRPRREPRPRRREPRPRRRERRERERPR
P RPONRRPRPRRPRRPONRPRPRRREPONERERR

NOTE: A -Kitincludes items 4,5, 6, 7 and item 8.
B - Not Shown in illustration.
C - Kitincludes items 4, 5, 6, 7 and item 8. Must order item #9 as well to make up a complete Fork Kit (5") w/ Short Fork

Stem.

Fork Assembly - For 4", 5", 6" Casters - Where Used

Caster Option Rear Wheel Se_at to Floor Stem Part Number Part Number
Option Dimensions Length
4SPLT 12", 16", 18" " 3" Fork w/
4ALUM2 (All Tires) 12-1/2, 13 Short Stem 1192574 NiA
4SPLT 12", 16", 18" 13-1/2, 14-1/2" 5" Fork w/ 1118545 40117X021
4ALUM2 (A” TII'ES) Short Stem See Note(s) A See Note(s) A
12", 16", 18" "
4SPLT 20", 22" 15", 15.1/2", 16" | 2 Forkw/ 1192573 N/A
4ALUM2 ; Long Stem
(All Tires)
51DC " " " "
5ALUM2 1?'&"1.2@33 13-1/2" 83hoFrE[)rSkt;vr’/n 1192574 N/A
5SPLT
51DC " " n "
12", 16", 18 " " 5" Fork w/ 1118545 40117X021
SALUM2 (All Tires) 14%,15 Short Stem
5SPLT See Note(s) A See Note(s) A
51DC 12", 18", 20" N " "
5ALUM2 22", 24" 15'116/_21/’2%,6 ’ L50nF0rSkt(\eNrT/1 1192573 N/A
5SPLT (All Tires) 9




Fork Assembly

(Options 4SPLT, 4ALUM2, 51DC, 5ALUMZ2, 5SPLT, 61DC, 6ALUM2)
Fork Assembly - For 4", 5", 6" Casters - Where Used

Caster Option Rear Wheel Se_-at to |_:Ioor Stem Part Number Part Number
Option Dimensions Length
61DC 122’2}82’4%0 14-1/2" 16" 5" Fork w/ 1118545 40117X021
6ALUM2 - ' Short Stem
(All Tires) See Note(s) A See Note(s) A
12", 18", 20" "
61DbC 22", 24" 16-1/2", 17" 5" Fork w/ 1192573 N/A
6ALUM2 ; Long Stem
(All Tires)
NOTE: A-To order a complete Fork Assembly, order both part numbers 1118545 and 40117X021.




